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INSTRUCTIONS TO CANDIDATES
Read the following instructions carefully before
you answer the questions on Answer Sheer ;-

L Write Roll No. as given in admission card

on this Question paper as well as on the
Answer sheet,

2. Write all the Nos. in English only, Write only

one digit in one block,
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This west ks in two pars, Each part contains
90 guestions. All the guestions are
compulsory. Each question carries 1 mark.
Every correct answer will be awarded one mark.
The answer shects for Part-1 & Part-11 are
different. Rememboer you have o mark vour
answers on related answer sheet,

Since the time allomed (5 the two parts of
this Question Paper is limited. vou should
make the best use of it by nol spending Loo
much time on any one guestion.

Solve the Part-1 (Mental Ability) of the
Question Paper by 1230 pom. and submit
Answer-sheet of Par-1 w the Invigilator,
Part-11 (Scholastic Ability) should be solved
in between 12,43 pm. 10 2.15 pm. and submit
Answer sheet Part-1l 1o the Invigilator.

The last page of this Question booklet is
meant for Rough work.

Method of marking Answer -

To answer a question, please darken one
bubble out of the given four, in the OMR
Answer Sheet against that question.

Use only Black/ Blue Ball-point Pen to
mark the answer

Use of any calculator, Log tables or any
other electronic Gadgets, Mobile phones is
prohibited.

Valuation procedure -

There are four alicrnative answers 1o a
guestion, only one of them 15 correct.
One mark will be given for correct answer of
the guestion. Il more than one bubble are
darkened for a question, it will be presumed
that the candidate does not know the correct
answer, hence, no mark shall be awarded.
Handing over the Answer Sheet 1o
Invigilator -

Plegse ensyure that all entries in the answer sheet
are filled up properly Le., Name, Roll No.,
Signature, Question Booklet No., eto.

Care in Handling the answer sheet -
While using answer sheet adequate care
should be aken not to tear or spoil due 1o
folds or wrinkles.

Please return the Answer-Sheet to the

invigilator after the tesi.
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PART — I : MENTAL ABILITY

fadar = o oo sy o sl HEm wE e
(gt 1 & 2 &%)

1 M S 00 g | N
(A) 38 (B) 49
(C) 63 (D) 42
2 1, 12, 16, 24, 40, 7
(A) Bl (B) 36
(C) 70 (D) 72

gy = Fieis w9 § 9 9% g
L oA aoft 7 deifa T Y ) (W 3 9 5 9%)

3 49, 48, 45, 42, 33, 24, 13
(A) 48 (B) 45
(L) 42 (D) 33

4 36, 43, 49, 54, 60, 61, 63, 64
(A) 60 (B) 63
(C) 54 (D) 43

th

360, 180, a0, 20, 3
(A) 180 (B) o0
(C) 20 (D) 3

FEn -~ Freieiea 9yl § frag we 9T ouge
9% (397 gfm | (W 6 B 9 TW)

6 CEG HIL, MO,

(A} QVY (B) OOR

(C) EHEK (D) RTV
7 D, F P :

(A} M B} X

(C) W (D) £
NS-4722

Direction :- Find the next number in each of
given sequence of number. (), From 1 to 2)

1 Vo 3 %3 7
(A) 38 (B) 49
(C) 63 (D) 42
2 10, 12, 16, 24, 40, _ 7
(A) 60 {B) 56
(C) T0 {D} 72
Direction :- Find the number from the

following sequence of given numbers which
does not belong o given sequence.
(). From 3 1o §)

3 45, 48, 45, 42, 33, 24, 13

(A) 48 (B) 45
(C) 42 (D) 33

4 36, 43, 49, 54, 60, 61, 63, 64
(A) 60 (B) 63
(C) 54 (D) 43

5 36, 180, o, 20, 3
(A) 180 (B) 60
(C) 20 (1) 3

Direction :- Find the missing term in each of
the following questions : (). From 6 1o 9)

¢ CEG HIL, MOQ.

(A) OVY (B) OOR
(C) EHK (DY) RTV
7 . F I F :
(A M By X
C) W (D) 2

G



8 I N YEYET
ba cb b bab
(A) abec (B) cabe
(C) bacc (D) cbea

9 oM@ EH OUREE |
bca beanb  aa  cas  caa.
{A) bbca {B) bbaa
{(C) acbhb (D) acac

i — Prefelian sl F o Py Puife @
T OME T W ued B o e ¥ 8 s
g wemares fos (7) & we o9 Rafeg
(A5 10 & 12)

(1]
2 ?
256 —y

{A) 8 (B) 4
(C) 32 (D) 16

1 o6 |72 |78

B4 | 7 |96
(A) &% (B) &9
(C} 90 (D) 92

12
(A) 42 (B) 43
(C) 44 (L) 45
N5-4722

8 Choose next once.
bi cb b bab .
(A) abce (B) cabc
(C) bacc (D) chea

9  Choosg next once,
bca bcaab  am can caa.
{A) bbca (B} bbaa
(C) achbh (D)) acac

Direction :- In each of following questions
a matrix of certain characieristics is given
these characters follow a cetain tend. Choose
the missing number. (Q). From 10 to 12)

yan
[/

(A) 8 (B) 4
(C) 22 (I} 16

11 66 |72 (78

84 | 7 |96
(A) 88 (B) 89
(C) 90 (D) 92

12

{A) 42 (B) 43
(C) 44 (L) 45




fEn = guitEs & omgan foo o g B 6
T =\ y= W g W wER 9Ee o
fwyr 13 # 16)
13 (A) Mahinder (B} Mahindra

{C) Mohinder (D) Mahender
14 (A) Science {B) Scrutiny

(C) Seripture (D} Scramble
15 (A) Rigour {B) Remove

(C) Retrospect (D) Revive
16 (A} Loiter (B) Loris

(C) Lotus (D)) Sister
i o~ ToT o ouer F Pam (o) @ Wl &
o g g | aiEl F wrew owew B el
tan & geyg fam () & SfeE afw ol | el
g ¢ o= P g o (we 17 @ 20)
17 = : @99 o e

(A) FeT (B) Fafsror

(C) (1) @
18 =@ : ofged o B =

(A) e (B) ¥

(C) 7= (D) 4=
19 wodwee : wiwmhE o W o

(A) T (B) iy

(C) T (D) g
W W o W o HET o -

(A) w5t (B fafm

(C) T (D) drart
NS5-4722

Direction :- Arrange the given words in
alphabetical order and choose the word which
comes first, (). From 13 to 16)

13  (A) Mahinder

(B) Mahindra

{(C) Mohinder (D) Mahender
14 (A) Science {B) Scrutiny
(C) Scripture () Scramble
15 (A) Rigour (B} Remove
{C) Retrospect (D) Revive
16 (A) Loiter (B) Loris
() Lotus (D) Sister
Direction :- There is some relationship

between the words / no. on the left hand side

| of sign (::) and the similar relationship exists

between the two terms on the right hand side
of sign (::). Find the missing term.
(Q. From 17 to 20)

17 Clock : Time :: Thermometer :

{A) Heat
(C) Energy

iB) Radiation
(D) Temperature

18 Tea : Leaf :; Coffee :

(A) Plant
(C) Root

{B) Flower
(D) Seed

19  Aeroplane : Cockpit :: Train :

(A) Wagon (B) Compartment
(C) Coach {D) Engine
20 Photo : Frame 1 Room :
(A) Floor (B) Building
(C) House (D) Walls



Fe — Fpeiafes =l & @9 4 & 38 0=
W oGET & W W o W oWEEM 8|
(wg 21 & 24)

21 (A) TR (B) e sara
(C) T1d (D) 9ast 95
22 (A) Hmam (B) 927
(C) #uTs (D) ares
23 (A) 169 (B) 121
(C) 625 (D 168
24 (A)gE - ugdl  (Blg9 o Om
(Cy®at s (DywEl O

25 @iy SLIGHT ® 426875 foren oman & &1

GIST = fmm o
{A) 6845 (B) 8645
(C) 4568 (D) 4586

N — B ™ fag § P aw wE w0 ushie
wiial & oW vufz F G A9 ¥ oaa Q0 gieee
i derd ¥ g R e Oe o wie w weiiie
TR )T OATETT 99 999 26 | M) & Iwy
difm |

()
>

R

26 A er wew giehe W e ¥

(Ayb+a iB) b
(€Y b+d+ 1 MMb+d+g+1
INS-4722

Direction :- Choose the word which is least
like {different) from other words from the
given group of words. (Q). From 21 10 24)

21 (A} Swimming (B) Diving
{C}) Driving (D) Fishing
| 22 {A) Bhopal (B) Pamna
(C) Lucknow (D) Assam
| 23 (A) 169 {B) 121
' (C) 625 (D) 168
24  (A) Flower : Petal (B) Circle : Arc

(C) Cover : Page (D) Chair : Leg
25 If SLIGHT stands
GIST stands for
(A) 6845
(C) 4568

for 426875, then

(B) 8645
(D) 4386

Direction :- In the following figure, ‘P
represents students who take part in Athletics.
‘0" who playvs Basketball and *R* who plays
Cricket. Give the answer of the following
questions from 26 to 30,

e
8%
R

R

26 Swdents who plays Basketball 7
(A)b+a B} b
(Cyb+d+T (D) b+d+g+f



27 Peew Taonli Rede @wa ¥ 7
(A)c (B) c+f
(C) c+e Dyc+eg+if+te
28 fom wed vufz o fisse 91 9 W
o ¥ 7
(Ayate B} e
(Cye+g (D) f+g
29 fEea o=t WiEhe oW o T T S
¥ oo vafee & am ool wa ¥ OF
(Ayg+f (B)
(C) b+e "{D)b
30 e Pl nafez af wiERE o 5 H
R e £ 7
(Aya+h (Bya+b+d
(Crd+g (D) g
31 afag w9 g o
(1) == (2) T4
(3) wow (4) T
(5) gl
(A) (1), (5) (2} (3) (4)
(B) (1} (3) (5). (4), (2)
(C) (1), (3) (4], (3), (2)
(D) (1), (3} (3), (a) (2)
32 i ma fem
(1) & (2) it
(3) I (4) =g
(A) (4) (3% (2% (1)
(B) (1), {4) (2}, (3)
(C) (3) () (23 (1)
(D) (2), (3), (4), (1)
NS-4722

| 27

29

30

k] |

32

How many studenis play Cricket ?
(A) e (B)ec+f
(L)c+e (Dyc+gt+f+e

How many students take part in both
Athletics and Cricket 7

(Aja+c¢ (B) e
Cle+g (i T+g

How many students play Basketball and
Cricket. but not take part in Athletics ™!

(A)g+f (B) f
(Ch)b+c (D) b

How many students take part in Athlete
and Basketball both

(Al)a+b (Bla+b+d
Crd+g () g

Write in appropriate order :

(1) Birth (2} Death
(3) Study (4) Degree
{5) Marriage

(A) (1), (5). (2), (3) (&)
(B) (1) (3) (5). (@) (D)
{C) (1), (3), (4} (5), (D)
(D) (1), (5) {3 (4) (2)

Write in appropriate order :
(1) Couniry (2) Street
{(3) City (4) State
(A) (4) (3 (2 (1)
B) {1} (4} (2} (3)
(€} (3) {4), (2} (1)
() £2), (3. (4) (D)



33 wh fam gfm -

Choose the correct figure :

2

N

B

[ -

TR iy
= L

3 T we & oo gl fem g 34 Find the correct missing figure :
AOIE"] | [BleE]
(I (I (I {1V) | (1) (L) (.  {1v)
|
A O ®| O M O ®| O
| [ ()| = | O | =
35 fe owm & o owd faw ogfe 35 Find the comrect missing figure :
+ T - 2 + | = +
= = b - 1. ¥ I? == - 4 i ?
P - S i~ = — | et
o= = NG - | + N
{A) (B) | = X = (A) (B) [= X x
2 s AN i i N
al: ==p ® TR [
([C) |+ A+ (D) C) [+ 2 (D) [~
== + - - =
MN5-4722




36 freAfafgs & 97 & #9 F FEET |

{a) Toremd (b) T
{¢) @ (dy =
(e) A=57

{A) {e). (b) (d). (a) (&)
(B) (e} (b) (d) (e} (a)
(C) ey, (n), (b). (d). (e)
(DY ic) (d) (&) (b) {e)

37

i il
{A) 12 (B) 20
(C) 29 (D) 30

38 Frs fam # Byl & demoww w5

/
/

(A) 12
(C) 16

{B) 13
(D) 10

fEa - 99 F9iE 39 8 45 % ¥ 96 I99
W oum oTETY, Wi amgtaat & Aw A
AT Faow s e wk ) oue = Oae e

W 9uE &g |

39  wyA il :
= b 1 ok i
=
ELL HF@fﬂ'ﬂ'f .
.‘—
(AY] |& (B}
: =
{C) —:"L| (2] |
MNS-472d

Pt fomy o oo wtert g K 7 |

Arrange the following in sequence of
weight.

{a) Butterfly
(c) Whale
(e) Mosgquito
(A) (), (b), (d). (a) (e}
(B) (¢), (b}, (d) (e) (a)
(C) (c) (a), (b}, (d) (&)
(D) (¢). (d). (a) (b) (e)

How many parallelograms are there in
the given figure?

Eg TR
R

(b) Lion
{d) Elephant

(A) 12 (B) 20
(C) 29 (D) 30
38 Find the number of triangles in given
figure.
(A) 12 (B) 13
(C) 16 (D) 10

Direction :- In question nos. 39 to 45 which
one of the four answer figures should come
alter the third problem fgure, so the sequence
will continued. Select comect, answer figure.

39 Problem Figures :

=] | |y L ?
{—.
Answer Figures :
— -4
(| [= (B)
-—
(C) ]_:"L m| |




4l !ﬁﬂ'@ﬁ'ﬂﬂ:
R 9
/| ]| ¢
T ARG
(A) ] |Of* (B) | [%]|O
© |2 | 5
41 ww wEhE -
Wo PN AR
T AR
(A | AN TIRYAYA
© | N ) [ N
41 9vA sk
T
¥ Hn 7
—
I wEheEl
(A) ”ﬂ (B) O[
(C) = (D) u[
|
NS-4722

| 40

41

42

Problem Figures :

RN 9
| o] -
Answer Figures :
(A) | |O)x (F3) o
© | 2 | &
Froblem Figures :
VAL A
Answer Figures :
CVIPAVAN ®) [N
© | N )T IVAN
Problem Figures :
[Ju . ?
o
it
Answer Figures :
(A) [lo (B} f:a|:
{(C) A (D I:I[
—




43  wya gl
O
Oe |eO = ?
poe 00| | §
mm:
wl3] o8
"
() El (D) g
=] o]
4 we gl
DOILD|
TAT ATFG
B [
ol@ /@
45 wrm wwEAE
d|B<1|BK|
T AREEE
| [PX ® | 3
(C} = (D) ﬁ
NS5-4722
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Problem Figures :

o
[(JOo |0 o)
Ol o
Answer Figures :
(A) 8 (B) 8"
5 O
- i .
(C) (D)
g %"
Problem Figures :
?

SR,

D

Answer Figure :

(A)

(C)

&b

D

(B)

(L)

D D

Problem Figures :

g Dl

4

Answer Figure :

(A)

(C)

[

(B)

(D)




st o (uyT T 46 # S0) : WS uy § | Direction :- (Question nos. 46 to 50) :_Th:
arr firg (A), (B), (C) ot (D) Pm o B o= | four figures (A), (B), (C) and (D) are given
Rt 4 & #m Fow mem ¥, T o aee qe | 0 oeach question below. The three figures out

: | aTEETE TTE it of these four figures are same upto some
e e e B i limit. Choose a separate figure indicate your

46 " FEE COImecl answer.

S0 Question Figures :

()] ®

I

MNS-4722 12

(B)

b 4

{A) < (B) _I_ | 46 Question Figures :
{A) < {B) —,—
©| X ==
| X D)=
47 usq w H
x| O /Bl A 47 Question Figures :
(A) E]E (B) [A]J & %%
| .
(& =& o
{C) ‘EEF () ﬂé
s | 48 Question Figures :
b ®| &I (A) E ® | X7
(<) (D) '
‘ () (D)
i : | 49 Question Figures :
g D_E = | h"ﬂq (B) o—l—-u
e (_I_ﬁ i F (C) (D) O_I_n



Fdw =— &% @t & weartio | (959 %, 514 56) | Direction :- Find by Venn diagram,
{(Question no. 51 to 56)
851 fhaz, f&=, 7@
51 Minutes, Days, Months
(a)
(b) @
(b)
o
(e} 3
{d)
(A) (a) (B} (b)
A b
(©) (©) (D) (d) (4 ) () )
(C) {c) (D) (d)
52 ofnd, P, faf | 52 Women, Teachers. Doctors
{ﬂ} (a)
(k) (b)
O o
-© 1©
(A) (a) (B) (b) (A) (a) (B (b)
(C) (e) (D) (d) (C) (e) (D) (d)
NS-4722 13




(€)

@@60

{d)
{A) (a) (B) (b)
{C) {c) (D) {d)

54 9§, Wet, Taed

(a)
9]
{c} @

(A) (a) (B) (b)
(C) ic) (D) (d)
INE-4722
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Vegetables, Green Chilli, Salt

{a)

(c)

%@éo

(d)
(A) (a) (B} (b}
(C) (e} (D} (d)

Bus, Scooter, Convevance

,.‘
E

@@60

—
L]
Tt

(d)
(A) {a) (B) (b)
(C) () () (d)



55 amge, @, BgE
O L@
S6 =9, =, =}
{A:@Orm |
o
87 =@ ueE | wEim ¥ oo
q wafra ¥
(A) Ham (B) #wEl
(C) wTder (D) 3=
58 el & oEy 9fge ®§ F oA ouw
# wdftm ¥
(A) 9= (B) =2
(C) 9= (D} s
50 wm W N @A AR @ AR oW gy
- S
(A) HIA (B) T
(C) s (1) o
60 um w1 day fafem A & O = = dey
gE
(A) &7 (B) &=
(C) Fimr (D) wfear
WNS4722
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55

57

Rectangle. Square. Triangle

O ‘“‘
Circle, Diameter.

w@w
o ‘”’

Shoes are related to leather as chair 1s
related to

{A) Table
(C) Carpenter

(C)

(B) Wood
(D) Sit

Nest is related to bird a5 house is related
T .

{A) Family {B) Children

{C) Human Being {D} Men

Food is related 1o hunger as sleep is
related o

{A) Dream
(C) Rest

(B) Night
(I¥) Play

Bird is related 1o wings as car is related
to

{A) Engine
(C) Gear

(B} Bonnet
(D) Wheel



“@  ® @
odho
(A) 20 (B) 10
(C) 12 (D} 16

62 7 4 5
E/\JS/\ILE/\I
{A) 5 (B) 6
(Cy 8 (D) 11

63 4 | 9
T125136
(A) 15 (B) 16
(C) 17 (D} 18

64 Tia wd TN T 3 R & o TEeE
¥ e og oy wiE vd smiw & oores
feemsr ¥ | v vd e Ao od fede
& oa3 T E o
F fEwe, v vy yeia ) aren Faemd
% 7 '
(A) T8 (B) wirsr
(C) | (D) g

NS-4722

16

ol

62

63

®
oo oo
o o o N\

(A 20 (B) 10
() 12 (D) 16
1 4 5

E/\4 3/\312/\1
(A) 5 (B} 6
(C) B (L3 11

1|4 |9

?125]|36
(A) 15 (B) 16
(C) 17 (D) 18

Ravi and Ganesh are good players of
Cricket and Hockey. Sonu and Ganesh
are good players of Hockey and Chess.
Ravi and Govind are good plavers of
Swimming and Cricket,

Who is good player of Cricket, Hockey
and Chess 7
(A) Ravi

(L) Sonu

(B) Ganesh
{23 Govind



65 W W W ¥ 9T § IWe aedl wya | 65 Usha ranked 8™ from the top and 374

T A W 374 WA oW o ww A Fw
Fenmiefdf o dwr wn Enl 7
(B) 435
(D) 43

(A) 46
(C) 44

afy et =vg =1 w9 HFE B 10 @ Fm
forpg 7v0 B, 12 B, samr @ire % o &1

(A) 10%
(Cy 2%

(B) 20%
(D) 40%

Finn —w & 679 70 F ferg wy famedt &
e e Iy A e b g s

W w1
67 (A) faargE (B) gir

(C) whard (D) "@efe (Feuwm)
68 (A Towiferet (B) fze

(C) Ty (D) g
69 (A Tt (B) 39

(C) fm (D) =
70 (A) BEQ (B) =i

{C) a7 (1) =k
NS-4722

17

from bottom in a class. How many
students are there in the ¢lass 7

(B) 45
(D) 43

(A) 46
(C) 44

If the buying price of an jtem is Rs, 10
and the selling price is Rs, 12, then what
iz the % of profit ?

(B) 20%
(D) 40%

(A} 102
(C) 2%

Direction :- In Question nos. 67 to 70, which
one is different from the rest three. Select odd

e,

67

69

(A) Displacement (B) Distance
(C) Length (D) Mass

(A} Millilitre (B} Liire

(C) Kilogram (3} Cubic meter
{A) Sphere (B) Circle

{C) Prism () Cube

{A) Fog (B) Dew

(C) Frost (D) Rain

-y
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(C) )_T

72 u¥d WnEE :
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VIV Y
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AAA
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(B}

()

(B)

(D)

A

VY

WV

Direction :- Which of the answer figure is
exactly the mirror image of the given problem
figure 7 Question No. 71 to T3,

71 Question Figure :

L]}

Mirror

Answer Figures :

(A) L (B) *—l
(C}) )_] (D) ‘_T

72  (Question Figure :

2

Mlirror

Answer Figures :

= =
- B} e
m:nl}} ( <i]:_
< =
[ < D>
t:[}{ t}}t}

18
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74

75

(A) W

N4

LRl o

TAT AR

) [

) <=
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(D)

(B}
5la E

N

(B)

(D)

<4<

@) |

o) [<B>

".-‘3

74

75
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(Question Figure :

‘-Jl
(A)

LI
fTPTr77 Mimor
Answer Figures :

S

Question Figure :

[

SFFFFFF7 Mimor
Answer Figures :

Al W

o[

Question Figore :

Mirror

Answer Figures :

=

() (<A

© [

(B

()

(B)

(1)

(B)

(D)

o
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(A)

(C)
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(B)

(D)

(B)

(D)

()

(D)
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Direction

i~ Which answer figure will

complete the pattern of the question figure ?

Question No. 76 to 78,

TH

)

T8

Question Figure :

s
e

Answer Figures :

T
Al s

o o

o]

(€] ™
o

Question Figure :

&

Answer Figures :

(A) E
i

(C)

Question Figure :

7

Answer Figures :

(B)

()

(B)

(D)

()

()

g NN
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™ 15, 1927, 36, 63, 7
(A) 80 (B) 79
(C) 127 (D) 82

RO B 4. 12,6 18, 7, 27
(A)9 (B} 10
(C) 12 (D) 18

81 o + ® oad = ¥ = wmroad - &,
- W + U - W« K W
IR+19-16=17+3 =1 o9 &0 BN 7
(A) 16 (B) 19
(C) 18 (D} 12

82 ot +mooand ~ &k —m e + &
xﬁﬂﬁ"t'ﬁ+ﬁmﬂ+tpm
6+36-4%2+2 & W ¥ W7
iA) 6 By 8
(C) 11 (D} 17

Frn — Prefafen gt § ToeE | 5Em /(D)
W TE BT | W maiw 83 4 85 °%

83 |3| 81012721
656|902 (200

(A) D (B) 3
(C) 5 (D) 7

(A) 44 (B) 169
(C) 25 (D) 35
NS-4722
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Direction :- Find the missing number in each
of the given sequence of numbers. Question
No. 79 and 80.

™ 15, 19, 27, 36, 63, 7

(A) 80 (B) 79
{C) 127 (D) 82
B0 8 4,12 6, 18, 7. 27
(A) 9 {B) 10
(C) 12 (D) 18

Bl If + means =, = means —,
+ means + and — means =, then
B+19-16=17+3=1
(A) 16 (B) 19
(C) 18 (I¥y 12

82 If + means =, — means +,
¥ means — and + mean -+, then
G+36—4=x2+2=T
(A) 6 (B) B
(C) 11 m 17

Direction :- Find the missing number / term
() in each of the following guestions.
(From ). Mo. B3 v BS)

83 |3 B 012|721
656|190 12|20(0

(A) O (B) 3
{C) 5 (D) 7
LR
g 144
16 ?
(A) 44 (B) 169
(C) 25 (D) 35
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CIR|D

N|B|I

H|E|?
(A} P (B) A
(Cy M (D) L

fifar | (999 % 86 T 90)

g — 7

86 THaw sTeer o8 ¥ @ faerdy ol s
I B 7
(A) 14 (B) 4
(C) 35 (D)) 39

BT o = faemd ¥ 7
(A) 24 (B) 20
(C) 34 () 40

88 feest wemere TR ¥ oA 9 o faemdt ¥ oo
4 € sy 7
(A) 66 (B) 32
(C) 34 (D) 40

89 fEa wieer v E A 9 wemr ¥ afw A
FamrEr 7
(A) 25 (B) 39
(C) 31 (L) 51

o fEa faemdr o9 ¥ o st K7
(A) 15 (B) 19
(C) 29 (D 25

MNS-4722

Q_

40

CI|R|D

NIB|I

H|E|[?
(A) P (B) A
(C) M (D) L

Direction :- Study the diagram and answer
the questions. (). No. 86 to 90)

How many doctors are there who
both plaver and artist 7

{A) 14 (B) 4

(C) 35 (D) 39

How many artists are players ?
(A) 24 (B) 20
(C) 34 (I3 40

How many artisis arc there who
neither a player nor a doctor ?
{A) 60 (B) 32

{(C) 34 (D) 40

How many doctors are there who
neither a plaver nor an artist 7
(A) 25 (B) 39

(C) 3] i) 81

How many players are there who
doctors 7
(A) 15
(C) 29

(B) 19
(D) 25

—r  Artisis

arc
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T AT s Em e T e 7 | 1
{(A) &7 Fell (B) 959 =t
(Cy @7 F=t (D) Traratas =
firr == B B
(A) frmerg & (B) o%a 2
(C) 79 H (D) wEr A
Torg w1 T W RO @ & %
(A) B1ET H (B) = &
(C) at=1 # (D) = & = =
e E R .E L
(A) 7 o (B) 2 &
(C)amg & (D) Frafer & (f=gm)

5
ftqgmres o Todm & a ooen e ko
(A) CO, (B) 50,

(Cy NO, (D) H.8
b

WE § W@ oW Umd o oum fai
(A) FFEsimTm
(C) g9

(B) e

(D) 7 & =

NS-4722

What is the ultimate source of energy
for all living organisms 7

{A) Water Encrgy

(B) Wind Energy

{C) Solar Energy

{[}) Chemical Energy

Bile is produced in :
(A) Gall bladder (B) Liver
(C) Blood (D)) Spleen

Silk fibre 15 derived from
{A) cocoon (B) pupa
{C) egg (D) None of these

Conduction is the process of transfer of
heat in :
(A) Ligquid
(C) Air

(B) Solid
(D} Vacuum

Gas s used in fOre extinguishers :

(A) €O, (B) SO,
(C) NO, (D) H,§

A method to prevent rust in lron :
(A) Crvsiallization

(B) Sedimentation

(C) Galvanisation

(D) Nome of these
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HETEDTI | o =T wE o @ oo R
# Wy W ¥

(A) st
(C) awmar

(B) wr=gs
(D) 575 & =% A8

H 8 qw @ few ge-fwf ¥ s
ofw

(A) A-wwre ol

(B) B-"rry-fefy

(C) C-wmay-Teafa

(D) 77 & =g

W F 9E o T e w1 e
s i

(A) g
(C) g

(B) Hw
(D) sr=ngr

FiywEn Taed e wm &
(A) &6 T wifsEE

(B) wdw TR i

(C) afgwm] @i (W)
(D) 78 & Ff

o ¥ wrpafs wan g R g B
(A) (B)
(C) 7% (D) 9=

e WG FEE K
(A) feerdrzrfmz (B) drzofse
(C) fFareoder (D) 9RETEEE

MN5-4722
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The winds from oceans carry water and
bring rain :

(A} Typhoon

{B)Y Monsoon

() Cyeclone

(D) None of these

In which horizon of soil minerals are
tound 7

(A) A-Horizon

({B) B-Horizon

(C) C-Horizon

(D) MNone of these

The organ of the body in which the
blood is oxygenated :

{(A) Heart iB) Lungs

(C) Liver (T3} Pancreas

Cell contains haemoglobin in :
(A) Red blood cell

(B) White blood cell

(C) Platelets

(D) Mone of these

Vegettive propagation in potato takes
place by :
(A) Leaf
{C) Root

(B) Stem
(I3} Secd

The baszic unit of speed is
(A) km/min (B) m'min

(C) km'hour (D) m's
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(A) T3y (B) v
(C) 9i=E (D) =aies \d)
14 =EAt § wivd 2dwr & =g o sgum sl o
m‘_:"-‘l'ﬂ!t:
(A) argEm oo (B) guaw Tdw
(C) 39A (D) 5vm o8
15 faya 9= fegm o B
(A) 23 =md {B) 22 =g
(C) 21 = (D) g5 & wrd
16 wugzs, amdt of oigal & g9 s @
yfrafog &7 3 §
(A) weg &
(B) == o
(C) smwrdfrs @ &
(D) fudr o
17 dw = frufes s & f (@ i) T
¥
{A) BT (W)
(B) =it ey
(C) F=EmaaEm A
(D) 7% & = 8
18 amgueR # CO, w1 e ¥
{A) 21% (B) 78%
{C) 0.03% (D) 2%
NS-4722

25

14

15

16

17

The amount of heat produced in a wire

depends on ;
(A) Material (B) Length
{(C) Thickness () All of these

The mirror used in vehicles for rear
view !

iA) Concave mirror

(B) Plane mirror

(C) Convex mirror

(D) Convex lens

World water day is celebrated on
(A) 23 March

(B) 2207 March

(C) 21% March

(D) None of these

Decomposers convert the dead plams
and animal body into :

(A) Sand

By Humus

(C) Inorganic debris

(¥ Soil

Sludge is decomposed to get biogas by :
(A} Yeast

(B) Aerobic bacteria

(C) Anaerobic bacieria

() None of these

Percentage of CO, in atmosphere is :
(A) 21% (B) 78%
(C) 0.03% (D) 2%
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(A) Femr (B) w§e
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(A) e
(C) SEETH

(B) FFRT
(D) Toies

WAy fuA % WeA § S B ¥
(A) wgam

(B) faya Tom

(C) weranrg giada

(D) Tty &

o G H qEEw e ¥ o
(A) oA ST eraa Tw .
(B) Az awanss S aent SEaie
(C) fafiron e

(D) weirim af aii |

26

19

2

22

Rabi crop is harvested in :
(B} Oetober
(D) March

(A) Janumary
{C) September

The Microorganism which contain
chlorophyll.

(A) Virus
(C) Algae

(B} Fungus
(D) All of these

Which is non-biodegradable 7
{A) Paper iB) Cotton ¢loth
(C) Wood (D) Plastic

Which can be beaten into thin sheets 7
{B) Sulphur
(D) Zine

(A) Dxygen
{C) Phosphorus

Burning of fossil fuel cause :
(A) Pollution

(B) Global warming

(C) Climate change

(I» All of these

Acid rain mainly conlains

(A) Oxygen and Nitrogen gas

(B} Nitrogen oxide and Sulphur dioxide
(C) Magnesium oxide

(D) Flourine and Chlorine gas
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The book which keeps a record of all
endangered animals and plants is :

(A) Blue data book
(B) White data record
(C) Red data book
(D) Red data record

Which is the outermost layer of an
animal cell 7

iA) Cell wall
(B) Cytoplasm
(C) Plasma membranc
(D) Muclear membrane

Hydra reproduces by :
{A) Fragmentation

(B) Budding

(C) Spore formation
(D)) Binary fission

Which hormone is secreted by adrenal
glands 7

(A) Adrenalin
(C) Testosterone

(B) Insulin
(13} Estrogen

Pressure 15

(A) Volume / Area
{B) Force / Arca
(C) Mass / Arca
(D) Density / Area

Which is not wused as lubricant 7
(A) Soap solution

(B) Grease

{C) Sulphur powder

(3} Graphite
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(A) ¥=0 (B) ==
(C) At (D) P
az
31 Wik o T ¥ oavw ® e & feo
Fra-dr uiear & =@ ¥ 7
(A) faga soges (B) gfvesm
(C) P #am (D) e
33 fee owsTw °H W@ @ digon Al
7 s
(A) Tzt fuen
(B) gEmem IgmTe
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(D) g2 & mnd
34
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(A) smggd=w (B) wiafds
(C) e (D) 7% & ®rg
35 Tew us W gEw w0 AT @ o W A
wEa ¥ 2 as
(A) 4% (B) =
(C) gewafan (D) 79
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Sound cannot travel through :
(A) Aar (B} Water
(C) Iron (1)) Vacuum

Which process is done to prevent
corrosion of iron ul:-je::t_q 2

(A) Electrolysis
{B} Refining

(C) Electroplating
(1) Metallungy

Which instrument is used (o measure
intensity of earthguake ?

(A} Richter scale
{B) Seismograph
{C) Polygraph

(DD} None of these

Splitting of light into s constituent
colours is known as :

(A} Refraction
(B) Reflection
{C) Dispersion
(D) None of these

Which planet is called *‘morning star’ or

"evening star® 7
(A) Venus {B) Mars

(D) Mercury

(C) Jupiter
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Gold coin introduced in India by the
Duich was known as

(A) Pagoda (B} Jittal

(C) Pound (D) Dollar

Who was the Nawab of Bengal at the
time of the battle of Plassey 7

(A) Alivardi Khan

(B) Siraj-ud-Daulah

(C) Shah Alam

(D) Shuja-ud-Daulah

When was Permanent Settlement
introduced 7

(A) 1857 A.D. (B) 1757 A.D.

(C) 1793 AD. (D) 1784 AD.

In 1829 A.D. which evil custom was
banned ?

{A) Child marriage

(B) Dowry system

(C) Sati system

(D) Purdah system

Dwring the Mughal period the Divan or
Vazir looked after -

(A) The income and expenditure

(B) The army

{C) Home affairs

{D) Judical affairs

Which is disruptive forces of national
integration 7
{A) Casteism

(C) Separatism

(B) Communalism
(D) All the above
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When was Human Rights Commission
formed in Madhya Pradesh 7

(A) September 1995 A.D.
{B) August 1995 A.D.
(C) January 1947 A.D,
(1)) November 1951 A.D.

Which country has the maximum
carthquakes 7

(A) India
(C) Japan

(B) France
(D) Sri Lanka

Visuvius Volcane is which type of
Volcano 7

(A) Active Voleano

(B) Dormant Volcano

(C) Extingt volcano

(D) None of the above

Bhedaghat is situated in which distriet 7
(A) Indore (B} Bhopal
(C) Gwalior (3} Jabalpur

Ihe third battle of Panipat was fought
in

(A) 1526 A.D.
(C) 1560 AD.

(B) 1356 A.D.
(D) 1761 AD.

Who established Prarthna Samaj 7
{A) Davanand Saraswati

{B) Mahadev Govind Ranade

{C) Raja Ram Mohan Roy

(12) Ammaram Pandurang
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(B) @fE fafam &5
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Which Viceroy banned the Sati system
(A} Lord Dalhousie

(B) Lord William Bentinck

{(C) Lord Clive

{D) Lord Canning

The maximum difference between the
two sittings of the Lok Sabha is

(A) 1 wvear {B) 3 months
{C) & months (D) 9 months

Which of the following in a
Kharif crop 7
(A} Rice
(C) Gram

(B) Tea
([0} Mustard

The president of the Constituent

Assembly was

{A) Dr. Harisingh Gaur
(B) Dr. Bhimrao Ambedkar
{C) Dr. Rajendra Prasad
(D) Pr. Jawaharlal Nehru

Who is the head of the Navy 7
{A) General (B) Admiral
(C) Captain () Commodore

Tarapur Atomic Centre 15 Jocated in
which Stwate 7

(A) Maharashtra

{B) Madhva Pradesh

(C) Kamataka

(I} Tamil Nadu
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What are such mountain ranges called
which have many mountain ranges and
spread parallel to each other 7

{A) Canyon (B) Plateau
(C) Cordillera (D} Plain

Which is the capital of Cuba ?
(A} Ottawa

(B) Washington D.C.

{C) Kingston

(D) Havana

Agriculture has developed the most in
the area of Africa continent

(A) Sahara desert
(B) Nile vallev
{C) Central Africa
(D) South Africa

In which layver of the stmosphere does
weather phenomenon take place 7

{B} Stratosphere
(D) Exosphere

{A) Troposphere
(C) Mesosphere

The central plain of Selvas is formed
by which niver 7
(A) Parana

(C) Amazon

(B) Paraguay
(12} Uruguay

Where is Balparizo harbour 7
(A) Chile (B} Brazil
{C) Surinam (D) Peru
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61 TES =ieRY A diaw o amy
(A) 1947 €. (B) 1965 1.
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Where was the first session of Indian
Mational Congress held 7

(A) Poona (B) Delhi
(C) Calcatia (T3} Bombay

Chandrashckhar Azad belonged to which
district of Madhva Pradesh 7

(A) Indore {B) Bhopal
(C) Khandwa (2} Alirajpur

Incident of Jallianwala Bagh occurred in
which year

(A) 1885 A.D.
(C) 1942 AD.

(B) 1919 A.D.
{D) 1947 A.D.

When did independent Bangladesh come
into being 7

(A) 1947 AD.
(C) 1971 AD.

(B) 1965 A.D.
(D) 1999 AD.

Which countries are the permanent

members of UN Security Council 7

(A) America, Russia, China, France,
England

(B} Russia, France, Japan, England.
China

(C) America, Japan, China, India, Russia

(D) England, India, China. France,
America

When was World Trade Centre
demaolished ¥

(A) 2000 AD.
(C) 2013 A.D.

(B) 2001 A.D.
(D) 2004 A.D.
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Which is called an Island continent 7
(A) Antarctica

(B) Asia

(C) Australia

{I)) North America

What is the main crop of Australia
continent 7

(A) Rice
{C) Tobacco

(B} Maize
(D) Wheat

When was the continent of Antarctica
discovered ?

(A) 1820 A.D.
(C) 1857 A.D.

(B) 1920 A.D.
(D) 1885 AD.

By whom the partition of Bengal done
in 1905 7

{A) Lord Dalhousie

(B} Lord Canning

{C) Lord Curzon

(D} Lord Bentinck

Between which countries the Panchsheel
pact signed ?

(A} India and Pakistan

(B} China and Pakistan

(C) India and MNepal

(D) India was China
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MATHEMATICS
71 fmom fag w1 swew 6@mo- 71 Area of the given figure is —
2 I 2 2 136.5 em?
2 1365 cand (A) 103.5 em (B)
ig; 0 it E 147 cm? (C) 224 em? (D) 147 em®
=]
4 I 72 The value of s T
e e ke (A) -1 (B) -2
{A" =3 [B] S| (C] = {D} -3
(C) -5 (D) -3 73  In reference to a circle the value of -
n 15 equal to —
73 g9 & WM ¥ g @ WW R - 8 area
sircumference
ek B S
DEm O By ==
diametre
() ——i: (D) kil C circumfierence
A faam (C) T
D) circumference
- ! ; radius
- TR 2
74 xEx¥w ¥ ek : |
( |32 % ? 74 Factorization of X7 +1‘+'E is —
—_ ]
x
) [74] ®) [I-E] e 1
3 (C) [E" (D) | x5
75 10 offore % wmer & MO HTA 9T 40 | 95 The mean of 10 observations was
gre Ko | iy geritEer & e O 9e calculated as 40. It was detected om
F7 45 3 9 a8 15 Tea B ogE rechecking that the value of 45 was
oy BN - wrongly copied as 15, The correct mean
- -
(A 42 (B) 43 (A) 42 (B) 43
(C) 44 (D) 45 (C) 44 (D) 45
NS.4722



ufE FHEgdT ® WAE o % wwd gt | 76 Ifcach side of Rhombus is doubled how

w1 A @ EE e S T W

aam 7
(A) 1.4 7o (B) 2 7om
(C) 3 7 (D) 4 7o

aff SA + B3I =65% @1 A ot B w0
g w —

(AYA =2 B=3
(B)A=3B=2
(CYA=2B=1
(D)A=1,B=2
175616 =1 orm & -
(A} 53 (B) 54
{C) 55 (D) 56

Fmmnyo<p<g<r<samopqg.r.s
wiw ¥ | P § @ famw o wwd ww
& ?

pr+g o+ s
{h} F4+3 {B] qg+r
g+as F+5
© L s

3 :
ﬁiﬁmatr!.#ﬁﬂi‘r;#masm
sl ¥ wren v ¥ ) 1 9w Praw & fem

[ 38 1
(A) 8 (B) 7
(C) 6 (D) 5
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much will its area increase ?
{A) 1.4 times (B) 2 times
(C) 3 times (D) 4 times

If SA + B3 = 65, then the value of A
and B iz -

(A)A =2, B =3
(B)A =3 B=2
(ChA=2B=1
(D)A =1, B=2

Cube root of 175616 is —

(A) 53 (B) 54
{(C) 55 (D} 56
Given that e<p<g<r<s and

o, P8 are integers. Which of the
following is the smallest ?

p+q dal.
= £ s
g+ & r+s
1 e @) o

1
A ribbon of length 5; metre is cut into

3
small pieces each of length 3 metre.

How many pieces will there be 7

(A) 8 (B) 7

(C) 6 (L2} 5



81 g el w25 Fm d w0 b AW
T wE w & 20 A ¥ wEre w5 gl
¥ 14t 5 o o umEe w5 w5 ¥ e
Tr W BEmT S W E | T B R
(fr) = ® feaw fm # go ®0h 7
{A) 8 Bm (B) 9 /A
(C)y 10 f= (D) 11 =

82 :.c]+3.1r2,1.'+.’-:l.jr':+,*>':|‘-'J"'FT‘F‘:”"H-'“-"H’""Iﬂ'r
_1'!-1-_1.-'; L1 R
(A) =3ox+y)  (B) 3xpx+ )
(€C) —Japix—1¥) (D) 3xp(x—)»)

83 i 0.25(dm—3) = 0.05(10m—9) #
m @1 AT B -
(A) 6 (B) 6.6
{C) 0.06 (D) 0.6

c
84 Tax # CO & OA I3 a0
i

ZBOC=29° @ ZAOD 1 HF ¥ -
(A) 90° (B) 1297
(C) 139° (D) 141°

85 ww gEEEE o 4320 T W AEEE
TR gy 10% @ v g 1 99 WEEE S
THEET A fer® w03 & ==y BM ¢
(A) 4800 {B) 5280
(C) 4600 (1)) 4280

MNS-4722
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Raju can do picee of work in 25 days
and Rani can finish it in 20 days. They
worked together for 5 days and then
Raju goes away. In how many days Rani
will finish the remaining work ?

{A) B days (B} 9 days
(C) 10 days (D} 11 days
What should be added to

* +3v7y+ 308 + 37 to oblain c+y?
(A) =3sp(x+y) (B 3xp(x+y)

(C) =3xy(x—=v) (D) 3xplx—y)

The value of m in the equation
0.25(4m-3) = 0.05(10m-9) is —

(A) b (B) 6.6
(C) 0.06 (D) 0.6
c
In figure CO is
A

perpendicular to OA and
ZBOC=29", 50 £AOD= 7
(A) 90° (B) 129°
(Cy 139¢ (D) 1417

By selling a mobile phone for ¥ 4320
shopkeeper loses 10%. At what price
did he buy it 7
(A) 4800
{C) 4600

(B} 5280
(D) 4280
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afi dmlﬁ_4:H!?_4zulﬁ+ 005 g, g 2013
M K W owe g -

(A) 42 (B) 43

(C) 44 (L) 45

b il 5 wwE WA B & ey i faed
=i e 9

(A) 6 (By 7

(C) 8 (D) 9

mm-aa;rin% ﬂzj',-{,.f i TR
x50

(A) 1.1% (B) 0.1%

(C) 0.01% (D) 1.0%

= & & fovmm om | wf & 7

24 %32
184
3% % §°
Sx25
5
(D) [(=2) % (-2)* |+ (=2)

{A)

(1)

()

Ao, WL H 1S 9w & 5 ook g ey
& W, W F T § S5 om & A o
B THA TE AR -

It _4.zr=la:__41nl':l_4zmﬁ-+4:*m5= k-4 0%
then the value of K is

{A) 42 (B) 43
{C) 44 (D) 45

How many edges will there be in a box
of fruiti having 6 vertices and 5 faces 7

(A} 6 (B) 7
(€) 8 (D) 9

1 00% of 50% of 25%

35250 15 equal to —
(A) 1.1% (B) 0.1%
(C) 0.01% (D) 1.0%%

Which of the following is not equal
o 1 7
2 w3
I8 4
35 o j.:"
Sx25
E-I
(7°+3%°
(D) [(-2)" x(=2)*]+(=2)

(A)

(B)

()

Ali is fifteen years clder than Sonu. Five
years ago, Ali was three times as oid
#s Sonu. Then Ali's present age will he

l 1
(A) 27> years  (B) 28— years

1
(C) 30= vears (D) 30 years

1
v i 28—
(A) 5 a9 (B) ﬂz o
I
(C) 3{]5 CL (D) 30 39
NS-4722
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